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1. Introduction

RAN4 has received LS from RAN1 [1] with the following action.
	RAN1 kindly requests RAN4 to take the above information into consideration. RAN1 kindly requests RAN4 to define the criterion for determining whether or not a UE can measure the pathloss accurately. Any feedback on the defined criterion for inaccurate pathloss measurement would help RAN1 to clarify the meaning of “the UE is not able to accurately measure[image: image2.png]PLye(qa)



” in TS 38.213.


 In this paper, we will provide our views on the criterion for inaccurate pathloss measurement.

2. Discussion
According to RAN1 LS, the pathloss reference for SRS for positioning may be a SSB from the serving cell, a SSB from a non-serving cell, a CSI-RS resource from the serving cell, a DL-PRS resource from a TRP of the serving cell, or a DL-PRS resource from a TRP of a non-serving cell.
Before defining the criterion for inaccurate pathloss measurement, we need to discuss what is meant by “accurate measurement”. In our understanding, any measurement cannot be 100% accurate, so when we say UE is able to accurately measure, it should mean the measurement error is within the specified accuracy requirements, otherwise we consider UE is not able to accurately measure.

Proposal 1: UE being able to accurately measure means the measurement error is within the specified accuracy requirements. 

Following above proposal, the criterion for inaccurate measurement should be simply based on the side condition of the applicable pathloss RS. For example, if pathloss RS is SSB from serving or non-serving cell, according to RAN4 requirements, UE should be able to meet the accuracy requirements if all the side conditions for SSB measurement are met, e.g. the Es/Iot on the SSB is above -6dB. It then means UE can accurately measure the RS under the condition, otherwise not.

Proposal 2: The criterion for inaccurate pathloss measurement is based on the side conditions of the measurement accuracy requirements for the applicable pathloss RS.

· If side conditions for the applicable pathloss RS are met, UE is assumed being able to accurately measure the pathloss RS

· If side conditions for the applicable pathloss RS are not met, UE is assumed not being able to accurately measure the pathloss RS

Similar as existing measurement, it is up to UE implementation to determine whether the side conditions for the applicable pathloss RS are met or not.
3. Conclusions

In this paper we provided our views on the criterion for inaccurate pathloss measurement.
Proposal 1: UE being able to accurately measure means the measurement error is within the specified accuracy requirements. 

Proposal 2: The criterion for inaccurate pathloss measurement is based on the side conditions of the measurement accuracy requirements for the applicable pathloss RS.

· If side conditions for the applicable pathloss RS are met, UE is assumed being able to accurately measure the pathloss RS

· If side conditions for the applicable pathloss RS are not met, UE is assumed not being able to accurately measure the pathloss RS
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